Class prep quiz on section 3.3, Stewart’s Calculus (8th ed.)

1. Which of the following derivatives is incorrect?
d 9 d 2

(a) %(tanx) = —sec’w (b) %(cotx) = —cscow
(©) a-fesew) = —esercots (d) o (seca) = secartan
¢) —(cscx) = —cscacotw - (secx) = secztans

2 Lot f(o) = B2 5L i

(a) 1 (b) sec’z —csc?x (c) sec?zesc’z (d) csc?x —sec’x

3. Let g(x) = /x cosxz. What is ¢'(z)?

(a) ;Of\/;nL\?/Esinx (b) (;(i;z_;—f”xsinx
(c) Cosx—%sinx (d) COSQ:—F\?/Esinx

3x2/3 3x2/3

4. Find the equation of the tangent line to y = 13sinx — 11 at x = 7.
(a) y—T7=(13cosT)(z — (13sin7 — 11))

(b) y—(13sin7—11) = (13cos 7)(x — 7)

(¢) 13cos7

(d) y—(13cos7) = (13sin7 — 11)(x — 7)



